CASE IH 2162/2152/2142
NEW HOLLAND 86C/83C/82C DRAPER HEADS
MACDON FD70/D60/D50 HEADS

Skid Quantity Reference
Complete Sets Y
A B C D
Case IH White 83490 1 4 1 Optional
New Holland| White 83490 1 4 1 Optional
MacDon White 83490 1 4 1 Optional
NOTE: Molded Cutterbar Skids not available at this time 42061 (D)
Center Skid Shoe
7" X 19"
D D D D D386 o oo Bol
(2) 3/8-16 Flange Nut
42055 (C)
42054 (A . )
Lot Eng 444 oo Right Ena S Shoe
11" X 15" (4) 5/16-18 x 3/4 Carriage Bolt

(4) 5/16-18 x 3/4 Carriage Bolt (4) 5/16-18 Flange Nut

(4) 5/16-18 Flange Nut

42053 (B)
Center Skid Shoe
14" X 16"

(4) 5/16-18 x 3/4 Carriage Bolt
(4) 5/16-18 Flange Nut

42319

Center Skid Shoe Assembly
14" X 16"
Includes: metal skid plate, poly
skid shoe and mounting hardware
(noft sold in kits)

MAY WES

i
——

PAGE10F1

42299
Center Draper Panel
35-3/16" X 76-5/8"

(5) 3/8-16 x 3/4 Carriage Bolt
(?) 3/8-16 x 1-1/4 Carriage Bolt
(14) 3/8-16 Flange Nut
(not sold in kits)

MacDon CA20 Adapter

1-800-788-6483
1-320-587-2322
1-320-587-6112 (Fax)

120 Eastgate Drive SE
PO Box 7
Hutchinson, MN 55350

WWW.MAYWES.COM

Doc #: 10184_G



	Sheet1
	Drawing View1


